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WIET A P ARN A0 R 2 fF 0 (15 4)
6cos(15t) t<0

dy
—+26y=u(t), u()=
dt y=u® © {12005(150 t>0
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2
M+/12y:0, 2P A1>0, y(-L)=y(L), ﬂ(_L):ﬂ(L)
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2 f(x)=e ™ —1<x<1, a>0 o z % f(x)2 Fourier cosine integral = (15 4 )

% 7 5 4F #ic (complex variable ) - # 3 5 f# ~ I:)Cf(z)dz » B¢ CEFlz]=2
f(z)=tan(z) - (15 %)
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(E A2 e % 58 5% (characteristic polynomial) % P(U)=A+A*+1° 20> +1—4 » &
P H AT AN & (determinant) o (5 4 )

D&z - 4x4 L A H B acE (eigenvalues) A % 2 1, =2, 3, —4 o F 5L A
117 7|38 & (determinant) - (5 4 )

é‘é’\' '—‘i ‘E: é\' S :{V1:V29V39V4} ’ '}i v Vl :(19_29093) ’ VZ :(27_57_396) ’ V3 :(0’1’3’0) ?
Vy=(2-14-7) - 2 B &SR (span) 2 5 F AV o @R h S d o rmuts g
TadVz - 24K (basis) o (10 4)
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—PX(X=4)(X"+9)




